consider the following directed graph. 
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Give the outdegree of each vertex.
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Consider the following directed graph. 
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Compute sum of the indegrees and the sum of the outdegrees.

	sum of indegrees
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What do you notice?

[image: image10.wmf]The sum of the outdegrees is one more than the sum of the indegrees. 
[image: image11.wmf]The sum of the indegrees and the sum of the outdegrees are not equal, but they are multiples of each other.    
 [image: image12.wmf]The sum of the indegrees equals the sum of the outdegrees.
 [image: image13.wmf]The sum of the outdegrees equals twice the sum of the indegrees plus 1.
 [image: image14.wmf]The sum of the indegrees is one more than the sum of the outdegrees. 
Consider the following directed graph. 
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Give the indegree of each vertex.
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Consider the following list of numbers. 

127, 686, 124, 512, 602, 50, 44 

Place the numbers, in the order given, into a binary search tree. 
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lace the following words in a binary search tree. Add the words to the tree in the order given. 

lust    gluttony    greed    sloth    wrath    envy    pride 
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In a class of 50 students, everyone has either a pierced nose or a pierced ear. The professor asks everyone with a pierced nose to raise his or her hand. Nine hands go up. Then the professor asked everyone with a pierced ear to do likewise. This time there are 46 hands raised. How many students have piercings both on their ears and their noses?

Write down all elements of ({3, 4, 5} ∩ {4, 5, 6, 7}) ∪ {8, 9}. (Enter your answers as a comma-separated list.)
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